
409��� Suspension

TMV Wheel Bearing Kits

Restores steering and braking control lost from worn or rusted wheel bearings.

• Kit includes two or more double sealed wheel bearings and two wheel hub seals.

• Each kit replaces both sides of the wheel.

FRONT AND REAR WHEEL BEARING KITS

GASGAS

GasGas 7-07G002 $44.95-J

HONDA

CR50F 04- 7-07H001 $28.95-J

CRF50F 7-06H003 $26.95-J

CR80/85 90-95 7-06H003 $26.95-J

CR80/85 96-07 7-06H003 $26.95-J 7-07H005 $28.95-J

CR125 85-89 7-06H015 $29.95-J

CR125 90-94 7-06H015 $29.95-J 7-07H010 $43.95-J

CR125 95-99 7-06H016 $37.95-J 7-07H010 $43.95-J

CR125 00-07 7-06H016 $37.95-J 7-07H011 $24.95-J

CRF150 03-08 7-06H005 $28.95-J 7-07H008 $32.95-J

CRF230 03- 7-06H005 $28.95-J

RetailApplication Year
Front Bearing Kit

TCI Part #

Rear Bearing Kit

TCI Part #
Retail

CR250 85-89 7-06H015 $29.95-J

CR250 90-94 7-06H015 $29.95-J 7-07H010 $43.95-J

CR250 00-07 7-07H011 $24.95-J

CR250F 04- 7-06H016 $37.95-J 7-07H011 $24.95-J

XR250R 92- 7-06H010 $29.95-J

CR450F 02-08 7-06H016 $37.95-J 7-07H011 $24.95-J

XR650R 00- 7-06H011 $30.95-J

KAWASAKI

KX65 98-99 7-06K002 $28.95-J

KX65 00- 7-06K002 $28.95-J 7-07K005 $28.95-J

KX80/85. 98- 7-06K002 $28.95-J 7-07K010 $33.95-J

KX125 86-92 7-06K005 $30.95-J 7-07K020 $40.95-J

KX125 93-96 7-07K020 $40.95-J

KX125 97-02 7-07K021 $43.95-J

KX125 03-05 7-07K022 $54.95-J

KX250 86-92 7-06K005 $30.95-J 7-07K020 $40.95-J

KX250 93-96 7-06K006 $37.95-J 7-07K020 $40.95-J

KX250 97-02 7-06K006 $37.95-J 7-07K021 $43.95-J

KX250 03-07 7-06K006 $37.95-J 7-07K022 $54.95-J

KX250F 04- 7-06K006 $37.95-J 7-07K022 $54.95-J

KLX450R 08-09 7-07K022 $54.95-J

KLX450F 06- 7-06K006 $37.95-J

KX500 94-96 7-06K006 $37.95-J

KX500 97-04 7-06K006 $37.95-J 7-07K021 $43.95-J

KTM

SX+F 03-05 7-06T008 $57.95-J

SX+F 06-07 7-06T008 $57.95-J 7-07T011 $61.95-J

SX+F 08- 7-06T009 $57.95-J 7-07T012 $53.95-J



410 ���Suspension

FRONT AND REAR WHEEL BEARING KITS

RetailApplication Year
Front Bearing Kit

TCI Part #

Rear Bearing Kit

TCI Part #
Retail

SUZUKI

RM 80/85 90- 7-06S005 $26.95-J 7-07S005 $28.95-J

RM125 96- 7-07S011 $46.95-J

RM125 01- 7-06S010 $37.95-J

RM250 95-99 7-07S010 $43.95-J

RMZ250 04-06 7-06K006 $37.95-J 7-07K022 $54.95-J

RMZ250 07- 7-06S015 $37.95-J

DRZ400 00- 7-07S007 $43.95-J

RMZ450 05- 7-06S015 $37.95-J

YAMAHA

YZ80/85 1992 7-07S005 $28.95-J

YZ80/85 93- 7-06Y005 $26.95-J 7-07S005 $28.95-J

YZ125 88-97 7-07Y005 $43.95-J

YZ125 1998 7-06Y010 $23.95-J 7-07Y005 $43.95-J

YZ125 99- 7-06Y010 $23.95-J 7-07Y008 $38.95-J

WR250F 01-03 7-06Y010 $23.95-J 7-07Y008 $38.95-J

WR250F 04- 7-06Y010 $23.95-J

YZ250 88-98 7-07Y005 $43.95-J

YZ250 99- 7-07Y008 $38.95-J

YZ250F 01-08 7-06Y010 $23.95-J 7-07Y008 $38.95-J

YZ250F 09- 7-06Y010 $23.95-J 7-07Y009 $29.95-J

WR400F 1998 7-06Y010 $23.95-J

WR400F 99-00 7-06Y010 $23.95-J 7-07Y008 $38.95-J

YZ400F 1998 7-06Y010 $23.95-J

YZ400F 1999 7-06Y010 $23.95-J 7-07Y008 $38.95-J

WR426F 01-02 7-06Y010 $23.95-J 7-07Y008 $38.95-J

YZ426F 00-02 7-06Y010 $23.95-J 7-07Y008 $38.95-J

WR450F 2003 7-06Y010 $23.95-J 7-07Y008 $38.95-J

WR450F 04- 7-06Y010 $23.95-J

YZ450F 03-08 7-06Y010 $23.95-J 7-07Y008 $38.95-J

YZ450F 09- 7-06Y010 $23.95-J 7-07Y009 $29.95-J



466 www.Trans Can Imports.com  ¨¨¨  1-800-661-9438 ATV

ATV AXLE SEALS

Tci Part #
Seal 

Dimensions
Tci Part #

Seal 

Dimensions
Tci Part #

Seal 

Dimensions

933-2011 20x35x7 933-2024 26x42x7 933-2013 44x62x9

933-2020 22x35x7 933-2016 30x42x8 933-2007 44x68/74x15

933-2005 23x35x7 933-2017 35x52x7 933-2025 45x76x10.5x19.5

933-2001 23x40x7 933-2006 35x54x6 933-2021 46x68x8

933-2003 23x42x7 933-2014 41x67x10.5 933-2022 46x70x8

933-2015 25x42x7 933-2002 42x62x7/9 933-2018 50x68x7

933-2019 26x40x5 933-2023 43x62x8 933-2012 52x62x7

LEGEND 

* 1 - Front Inside

* 2 - Front Outside

* 3 - Left 

* 4 - Right

* B - Outside

* C - Inside

* E - Left

* F - Right

ATV BEARINGS AND SEALS

For Bearing Part # please refer to chart
on top of page 459

70 ATC 70 76-77 6202-2RS 6202-2RS 6205-2RS 6205-2RS

70 ATC 70 78-85 6202-2RS 6202-2RS 6006-2RS 6006-2RS

70 TRX 70 86-87 6003-2RS 6002-2RS 6006-2RS 6006-2RS

90 ATC 90 76-78 6003-2RS 6003-2RS 6007-2RS 6007-2RS

90 ATC 90K, K1, K2 6003-2RS 933-2011 6003-2RS 6007-2RS 6007-2RS

90 ATC 90K3 6003-2RS 6003-2RS 6007-2RS 6007-2RS

90 TRX 90 93-04 6003-2RS 933-2005 6003-2RS 933-2005 60/32-2RS 60/32-2RS

110 ATC 110 79-81 6203-2RS 933-2001 6203-2RS 933-2001 6007-2RS 933-2002 6007-2RS 933-2002

110 ATC 110 82-85 6302-2RS 933-2003 6302-2RS 933-2003 6007-2RS 933-2002 6007-2RS 933-2002

125 ATC 125M 84-85 6302-2RS 933-2003 6302-2RS 933-2003 6007-2RS 933-2002 6007-2RS 933-2002

125 ATC 125M 86-87 6302-2RS 933-2003 6302-2RS 933-2003 60/32-2RS 60/32-2RS

125 TRX 125 85-86 6003-2RS 933-2005 6003-2RS 933-2005 6007-2RS 933-2002 6007-2RS 933-2002

125 TRX 125 87-88 6003-2RS 933-2005 6003-2RS 933-2005 60/32-2RS 60/32-2RS 933-2002

185 ATC 185S 80-83 6302-2RS 933-2003 6302-2RS 933-2003 6007-2RS 933-2002 6007-2RS 933-2002

200 ATC 200E Big Red 82-83 6302-2RS 933-2003 6302-2RS 933-2003 6007-2RS 933-2002 6007-2RS 933-2002

200 ATC 200ES Big Red 1984 6302-2RS 933-2003 6302-2RS 933-2003 6909-2RS

200 ATC 200M 84-85 6302-2RS 933-2003 6302-2RS 933-2003 6007-2RS 933-2002 6007-2RS 933-2002

200 ATC 200S Big Red 84-86 6302-2RS 933-2003 6302-2RS 933-2003 6007-2RS 933-2002 6007-2RS 933-2002

200 ATC 200X 83-85 6302-2RS 933-2003 6302-2RS 933-2003 6007-2RS 933-2002 6007-2RS 933-2002

200 ATC 200X 86-87 6302-2RS 933-2003 6302-2RS 933-2003 6007-2RS 6007-2RS

200 TRX 200 1984 6004-2RS 933-2004 6004-2RS 933-2004 6909-2RS

200 TRX 200 Fourtrax 90-91 6004-2RS 933-2004 6004-2RS 933-2004 6007-2RS 6007-2RS

200 TRX 200D Fourtrax 200-II 90-97 6004-2RS 933-2004 6004-2RS 933-2004 6007-2RS 6007-2RS

200 TRX 200SX Fourtrax 86-88 6904-2RS 6202-2RS 933-2011 6007-2RS 6007-2RS

250 ATC 250 ES/SX Big Red 85 6302-2RS 933-2003 6302-2RS 933-2003 60/32-2RS 933-2009

250 ATC 250 ES/SX Big Red 86-87 6302-2RS 933-2003 6302-2RS 933-2003 62/28-2RS 60/32-2RS 933-2009

250 ATC 250R 81-84 6302-2RS 933-2003 6302-2RS 933-2003 6007-2RS 933-2002 6007-2RS 933-2002

250 ATC 250R 85-86 6302-2RS 933-2003 6302-2RS 933-2003 6908-2RS 933-2012 6908-2RS 933-2012

250 FL 250 Odyssey 77-84 6004-2RS 933-2015 6004-2RS 933-2015 6007-2RS 6007-2RS

250 TRX 250 85-87 62/28-2RS

250 TRX 250 Fourtrax 85-87 6004-2RS 933-2004 6004-2RS 933-2004 62/28-2RS 60/32-2RS 1 933-2009

250 TRX 250 TE/TM Recon 97-06 6004-2RS 933-2004 6004-2RS 933-2004 60/32-2RS 60/32-2RS

250 TRX 250EX Sportrax 01-06 6004-2RS 933-2004 6202-2RS 933-2005 60/32-2RS 60/32-2RS

250 TRX 250R Fourtrax 86-87 6004-2RS 933-2004 6004-2RS 933-2004 6908-2RS 933-2012 6908-2RS 933-2012

250 TRX 250R Fourtrax 88-89 6004-2RS 933-2004 6202-2RS 933-2011 6908-2RS 933-2012 6908-2RS 933-2012

250 TRX 250X 87-92 6004-2RS 933-2004 6202-2RS 933-2011 6908-2RS 933-2012 6908-2RS 933-2012

300 TRX 300 Fourtrax 2x4 88-95 6004-2RS 6202-2RS 933-2011 6007-2RS

300 TRX 300 Fourtrax 2x4 96-00 6004-2RS 6004-2RS

350 ATC 350X 85-86 6302-2RS 933-2003 6302-2RS 933-2003 6908-2RS 933-2012 6908-2RS 933-2012

350 FL 350R Odyssey 85 6004-2RS 933-2004 6004-2RS 933-2004 6205-2RS 6006-2RS

Inside Inside Outside Outside Right qty Right Left qty Left

Bearing Seal Bearing Seal Bearing Seal Bearing Seal

cc Model Year

Rear Wheel Front Wheel

Honda



467www.Trans Can Imports.com ¨¨¨1-800-661-9438 ATV

ATV AXLE BEARINGS AND SEALS

350 TRX 350A 86-87 62/28-2RS 60/32-2RS 933-2008

350 TRX 350D 87-89 62/28-2RS 60/32-2RS 933-2008

350 TRX 350 4x4 90-94 DEO681CS18 933-2006 60/32-2RS 933-2009

350 TRX 350 FE/FM 4x4 00-06 DE0678CS12 62/28-2RS 2 60/32-2RS 1 933-2008

350 TRX 350 TE/TM 4x4 00-06 DE0678CS12 62/28-2RS 2 60/32-2RS 1 933-2008

350 TRX 350 Fourtrax 86 62/28-2RS 60/32-2RS 933-2008

400 FL 400R P ilot 89-90 6004-2RS 6004-2RS 6007-2RS 6007-2RS

400 TRX 400EX 99-01 6004-2RS 933-2004 6202-2RS 933-2011 6908-2RS 933-2012 6908-2RS 933-2012

400 TRX 400EX 02-06 6004-2RS 933-2004 6202-2RS 933-2005 6908-2RS 933-2012 6908-2RS 933-2012

400 TRX 400FA/FGA 04-07 DE0678CS12 62/28-2RS 2 60/32-2RS 1 933-2008

400 TRX 400FW Foreman 95-03 DEO681CS18 62/28-2RS 2 60/32-2RS 1 933-2008

420 TRX 420FA/FE/FMTE/TM 14-17 60/32-2RS 1

450 TRX 450ES/S 98-01 DEO681CS18 62/28-2RS 2 60/32-2RS 1 933-2008

450 TRX 450FE/FM 02-04 DEO681CS18 62/28-2RS 2 60/32-2RS 1 933-2008

450 TRX 450R 04-05 6004-2RS 933-2004 6202-2RS 933-2005 6908-2RS 933-2012 6908-2RS 933-2012

500 TRX 500FA 01-09/11-14 DEO681CS18 62/28-2RS 2 60/32-2RS 1 933-2008

500 TRX 500FGA 04-09 DEO681CS18 62/28-2RS 2 60/32-2RS 1 933-2008

500 TRX 500FPA 09/11-14 DEO681CS18 62/28-2RS 2 60/32-2RS 1 933-2008

500 TRX 500FE/FM 05-09/11-13 DEO681CS18 62/28-2RS 2 60/32-2RS 1 933-2008

500 TRX 500FE/FM 14-17 60/32-2RS 1 933-2008

500 TRX 500FPE/FPM 07-09/11-13 DEO681CS18 62/28-2RS 2 60/32-2RS 1 933-2008

500 TRX 500 TM 05-09 DEO681CS18 62/28-2RS 2 60/32-2RS 1 933-2008

650 TRX 650FA 03-05 DEO681CS18 20-1039 2 n/a

650 TRX 650FGA 04-205 DEO681CS18 20-1039 2 n/a

650 TRX 680FA 06-21 DEO681CS18 20-1039 2 n/a

650 TRX 680FGA 06-09 DEO681CS18 20-1039 2 n/a

Kawasaki

50 KFX 50 03-05 6203-2RS 6202-2RS

80 KFX 80 03-05 6203-2RS 6202-2RS

110 KLF 110 A1-A2/B1-B2 87-88 6203-2RS 6202-2RS 6007-2RS 6007-2RS

110 KLT 110 84-86 6007-2RS 6007-2RS

125 KLT 160 1985 6203-2RS 6007-2RS

160 KLT 160 A1 85 6007-2RS n/a

185 KLF 185 A1-A4 Bayou 85-88 6203-2RS 6203-2RS 6007-2RS n/a

185 KLT 185 A1-A2 86-87 6007-2RS n/a

200 KLT 200 A1-A4 81-83 6008-2RS 6008-2RS

200 KLT 200 B1 83 6008-2RS 6206-2RS

200 KLT 200 C1-C2 83-84 6008-2RS 6008-2RS

220 KLF 220 A1-A14 Bayou 88-02 6004-2RS 6203-2RS 6205-2RS 933-2016 6205-2RS 933-2017

250 KLF 250 Bayou 4x4 03-06 6004-2RS 6203-2RS 6205-2RS 933-2016 6205-2RS

250 KLT 250 A1-A2 Prairie 82-83 6008-2RS 6206-2RS

250 KLT 250 C1-C3 Prairie 83-85 6008-2RS 6008-2RS

250 KLT 250 P1 Police 84 6008-2RS 6008-2RS

250 KSF 250A Mojave 87-04 60/22-2RS 6203-2RS 6008-2RS 6008-2RS

250 KXF 250 A1-A2 Tectate-4 87-88 6203-2RS 60/22-2RS 6008-2RS 6008-2RS

250 KXT 250 A1 Tectate 84 6007-2RS 6007-2RS

250 KXT 250 A2 Tectate 85 6203-2RS 6203-2RS 6007-2RS 6007-2RS

250 KXT 250 B1-B2 Tectate 86-87 6203-2RS 6203-2RS 6008-2RS 6008-2RS

300 KEF 300 A1-A6/B1-B3 Lakota 95-02 60/22-2RS 6203-2RS 6008-2RS 6008-2RS

300 KLF 300A Bayou 86-87 6004-2RS 933-2015 6004-2RS 933-2015 6205-2RS 933-2016 6205-2RS 933-2016

300 KLF 300B Bayou 88-04 60/22-2RS 6203-2RS 6205-2RS 933-2016 6205-2RS 933-2016

300 KLF 300C Bayou 4x4 89-04 6205-2RS 933-2016 6205-2RS 933-2017

300 KVF 300A Prairie 4x4 99-02 6008-2RS 6908-2RS

300 KVF 300B Prairie 2x4 99-02 6008-2RS 6908-2RS

400 KLF 400 B1-B7 Bayou 4x4 93-99 6205-2RS 933-2016 6205-2RS 933-2017

400 KVF 400A Prairie 4x4 97-98 6008-2RS 6908-2RS

400 KVF 400B Prairie 2x4 98 6008-2RS 6908-2RS

400 KVF 400C Prairie 4x4 99-02 6008-2RS 6908-2RS

400 KVF 400D Prairie 2x4 99-02 6008-2RS 6908-2RS

400 KFX 400 03-06 6004-2RS 933-2024 6202-2RS 6008-2RS 6008-2RS

400 KFX 400 08-14 6004-2RS 933-2024 6202-2RS 6808-2RS 1 6008-2RS 2

700 KFX 700 V-Force 04-06 6004-2RS 6202-2RS

Inside Inside Outside Outside Right qty Right Left qty Left

Bearing Seal Bearing Seal Bearing Seal Bearing Seal

cc Model Year

Rear Wheel Front Wheel

Honda



468 www.Trans Can Imports.com  ¨¨¨  1-800-661-9438 ATV

ATV AXLE BEARINGS AND SEALS

50/90 Predator/Scrambler/Sportsman 01-03 6003-2RS 6002-2RS 6006-2RS 6006-2RS

250 250 2x4 90-95 6204-2RS 6204-2RS 6007-2RS 6007-2RS

250 Cyclone 87 6003-2RS 6203-2RS 6007-2RS 6007-2RS

250 Scrambler 85-86 6203-2RS 6203-2RS 6007-2RS 6007-2RS

250 Trail Blazer 90-03 6204-2RS 6204-2RS 6007-2RS 6007-2RS

250 Trail Boss 250 85-01 6003-2RS 933-2001 6203-2RS 6007-2RS 6007-2RS

300 300 2x4 94-95 6204-2RS 6204-2RS 6007-2RS 6007-2RS

300 300 4x4 94-95 6007-2RS 6007-2RS

300 Xplorer 4x4 95-98 6007-2RS 6007-2RS

300 Xplorer 99 6007-2RS 6007-2RS

300 Xpress 96-99 6204-2RS 6204-2RS 6007-2RS 6007-2RS

325 Magnum 2x4 & HDS 00-01 6204-2RS 6204-2RS 6206-2RS

325 Magnum 2x4 & HDS 02-03 6204-2RS 6204-2RS

325 Magnum 4x4 00-01 6206-2RS

325 Tail Boss 00-03 6204-2RS 6204-2RS

325 Xpedition 01 6206-2RS

350 350 2x4 90-93 6204-2RS 6204-2RS 6007-2RS 6007-2RS

350 350 4x4 90-93 6007-2RS 6007-2RS

350 Sportsman 4x4 93 6007-2RS 6007-2RS

350 Trail Boss 2x4 91-92 6204-2RS 6204-2RS 6007-2RS 6007-2RS

350 Trail Boss 4x4 91-92 6007-2RS 6007-2RS

380 Scrambler 2x4 00 6204-2RS 6204-2RS

400 Scrambler 2x4 90-95 6204-2RS 6204-2RS 6007-2RS 6007-2RS

400 Scrambler 4x4 95-97 6007-2RS 6007-2RS

400 Sport 95-98 6204-2RS 6204-2RS 6007-2RS 6007-2RS

400 Sport 99 6007-2RS 6007-2RS

400 Sportsman 94-97 6007-2RS 6007-2RS

400 Trail Blazer 03 6204-2RS 6204-2RS

400 Xplorer  4x4 95-98 6007-2RS 6007-2RS

400 Xpress 96-97 6204-2RS 6204-2RS 6007-2RS 6007-2RS

425 Magnum 2x4 95-98 6204-2RS 6204-2RS 6007-2RS 6007-2RS

500 Magnum 4x4 99-01 6206-2RS

500 Magnum 2x4 02 6204-2RS 6204-2RS

500 Scrambler 97 6007-2RS 6007-2RS

500 Scrambler 4x4 00-02 6204-2RS 6204-2RS

600 Sportsman 03-04 6008-2RS 6008-2RS

Polaris-Side x Side

800 Ranger 800 2012 DAC44720033 DAC44720033 DAC40740040 DAC40740040

Suzuki

50 LT 50 84-87 6002-2RS 6002-2RS

50 LT-A 50 02-04 6203-2RS 6202-2RS

80 LT 80 Quad Sport 87-05 6203-2RS 6202-2RS

125 ALT 125 83-86 6203-2RS 6203-2RS 6007-2RS 933-2002 6007-2RS 933-2002

125 LT 125 83-87 6203-2RS 6203-2RS 6007-2RS 933-2002 6007-2RS 933-2002

160 LT 160 03-04 6203-2RS 6203-2RS 6007-2RS 933-2002 6007-2RS 933-2002

160 LT 160E 89-92 6203-2RS 6203-2RS

160 LTF 160 Quadrunner 91-01 6203-2RS 6203-2RS

185 ALT 185 84-87 6203-2RS 6203-2RS 6007-2RS 933-2002 6007-2RS 933-2002

185 ALT 185F 85 6203-2RS 6203-2RS 6007-2RS 933-2002 6007-2RS 933-2002

185 LT 185 84-87 6203-2RS 6203-2RS 6007-2RS 6007-2RS

230 LT 230E Quadrunner 87-93 6004-2RS 933-2004 6202-2RS 933-2005 6008-2RS 933-2018 6008-2RS 933-2018

230 LT 230GE 85-86 6204-2RS 6202-2RS 6009-2RS

230 LT 230S QuadSport 85-88 6004-2RS 933-2015 6202-2RS 933-2015 6008-2RS 933-2018 6008-2RS 933-2018

230 LTF 230 86-87 6204-2RS 6202-2RS 6009-2RS

250 LT 250E Quadrunner 85-86 6204-2RS 6202-2RS 6008-2RS 933-2018 6208-2RS

250 LT 250R QuadRacer 85-92 6004-2RS 933-2015 6202-2RS 933-2015 6008-2RS 933-2018 6008-2RS 933-2018

250 LT 250S QuadSport 89-90 6004-2RS 933-2024 6202-2RS 6008-2RS 933-2018 6008-2RS 933-2018

250 LT-F 4WD Quadrunner 87-98 6006-2RS 6006-2RS 60/32-2RS 60/32-2RS

250 LTF-250F Quadrunner 4WD 99-02 6006-2RS 6006-2RS 60/32-2RS 60/32-2RS

250 LTF-250 Quadrunner 2WD 88-01 6006-2RS 6006-2RS 60/32-2RS 60/32-2RS

250 LT-F 4WDX King Quad 91-98 6006-2RS 6006-2RS 60/32-2RS 60/32-2RS

250 LT-F 250 Ozark 02-05 6203-2RS 6203-2RS

250 LTZ 250 QuadSport 05-06 6004-2RS 933-2024 6202-2RS

300 LT 300E Quadrunner 87-89 6204-2RS 6202-2RS 6008-2RS 933-2018 6208-2RS 933-2018

Inside Inside Outside Outside Right qty Right Left qty Left

Bearing Seal Bearing Seal Bearing Seal Bearing Seal

cc Model Year

Rear Wheel Front Wheel

Polaris-ATV



469www.Trans Can Imports.com ¨¨¨1-800-661-9438 ATV

ATV AXLE BEARINGS AND SEALS

300 LTF 300F King Quad 99-02 6006-2RS 6006-2RS 60/32-2RS 60/32-2RS

400 LT-A 400 Eiger 02-04 6006-2RS 6006-2RS 6006-2RS 6006-2RS

400 LT-A 400F Eiger 4x4 02-05 6006-2RS 6006-2RS 6006-2RS 6006-2RS

400 LT-F 400 Eiger 02-04 6006-2RS 6006-2RS 6006-2RS 6006-2RS

400 LT-F 400F Eiger 4x4 02-05 6006-2RS 6006-2RS 6006-2RS 6006-2RS

400 LTZ 400 03-06 6004-2RS 933-2024 6202-2RS 6008-2RS 6208-2RS

500 LT 500R QuadRacer 87-90 6004-2RS 933-2024 6202-2RS 6010-2RS 6010-2RS

500 LT-A 500F Quadmaster 00-01 6006-2RS 6006-2RS 6006-2RS 6006-2RS

500 LT-A/F 500F Vinson 4x4 02-05 6006-2RS 6006-2RS 6006-2RS 6006-2RS

500 LT-F 500F Quadrunner 98-02 6006-2RS 6006-2RS 6006-2RS 6006-2RS

Yamaha 

50 Raptor 50 04 6003-2RS 6003-2RS 6006-2RS 6006-2RS

60 YT 60 84-85 6005-2RS 6005-2RS

80 YFM 80 Moto-4 85-86 6203-2RS 6203-2RS

80 YFM 80 Moto-4 87-88 6003-2RS 6003-2RS

80 YFM 80 Badger 92-02 6003-2RS 6003-2RS 6006-2RS 6006-2RS

80 YFM 80 Raptor 03-04 6003-2RS 6003-2RS 6006-2RS 6006-2RS

100 YFM 100 Champ 89-91 6003-2RS 6003-2RS 6006-2RS 6006-2RS

125 YFA1 Breeze 91-04 6003-2RS 6003-2RS 6007-2RS 6007-2RS

125 YT125 82-85 6203-2RS 6203-2RS 6007-2RS 6007-2RS

175 YT175 82-83 6203-2RS 6203-2RS 6007-2RS 6007-2RS

200 YFM 200 Moto-4 85-89 6003-2RS 6203-2RS 6008-2RS

200 YFS 200 Blaster 88-06 6004-2RS 933-2024 6202-2RS 933-2005 6007-2RS 6007-2RS

200 YTM 200 Tri-Moto 83-85 6203-2RS 6003-2RS 6008-2RS

225 YFM 225 Moto-4 86-88 6003-2RS 6203-2RS 6008-2RS

225 YTM 225DR 85-86 6203-2RS 6203-2RS 6008-2RS

225 YTM 225DX 83-85 6203-2RS 6203-2RS 6008-2RS

250 YFB 250 Timberwolf 2/4WD 92-00 6904-2RS 6202-2RS 933-2005 62/28-2RS 6008-2RS

250 YFM 250 Beartracker 89-91 6004-2RS 933-2024 6202-2RS

250 YFM 250 Beartracker 00-04 6004-2RS 933-2024 6202-2RS 62/28-2RS

250 YFM 250 Moto-4 89-91 60/22-2RS 933-2024 6202-2RS 933-2005

250 YTZ 250 Tri-Z 85-86 6302-2RS 6302-2RS 6007-2RS 6007-2RS

Inside Inside Outside Outside Right qty Right Left qty Left

Bearing Seal Bearing Seal Bearing Seal Bearing Seal

cc Model Year

Rear Wheel Front Wheel

Suzuki

350 YFM 350ER Moto-4 87-89 6003-2RS 6203-2RS

350 YFM 350ER Moto-4 90-95 6004-2RS 933-2024 6202-2RS

350 YFM 350FW Big Bear 4x4 87-88 6006-2RS 6006-2RS

350 YFM 350FW Big Bear 4x4 89-95 6006-2RS 6006-2RS

350 YFM 350FW Big Bear 4x4 96-97 6006-2RS 6006-2RS 62/28-2RS

350 YFM 350FW Big Bear 4x4 98 6006-2RS 6006-2RS 62/28-2RS

350 YFM 350FW Big Bear 4x4 99 6006-2RS 6006-2RS 62/28-2RS

350 YFM 350 Raptor 05-06 6004-2RS 933-2024 6202-2RS

350 YFM 350U Big Bear 2x4 96-99 6006-2RS 6006-2RS 62/28-2RS

350 YFM 350 Bruin 2WD 04-06 6006-2RS 6006-2RS 62/28-2RS

350 YFM 350 Bruin 4WD 04-06 6006-2RS 6006-2RS 62/28-2RS

350 YFM 350X Warrior 87-04 6004-2RS 933-2024 6202-2RS 933-2005 6008-2RS 6008-2RS

350 YFM 350FX Wolverine 95 6006-2RS 6006-2RS 62/28-2RS

350 YFM 350FX Wolverine 96-99 6006-2RS 6006-2RS 62/28-2RS

350 YFM 350FX Wolverine 00-06 6006-2RS 6006-2RS 62/28-2RS

350 YFZ 350 Banshee 87-06 6004-2RS 933-2024 6202-2RS 933-2005 6007-2RS 6007-2RS

400 YFM 400FW Kodiak 93-95 6006-2RS 6006-2RS 62/28-2RS

400 YFM 400FW Kodiak 96-99 6006-2RS 6006-2RS 62/28-2RS

400 YFM 400 Kodiak 2WD 00-01 6006-2RS 6006-2RS 6006-2RS

400 YFM 400 Kodiak 2WD 04 6006-2RS 6006-2RS 62/28-2RS

400 YFM 400 Kodiak 4WD 00-02 6006-2RS 6006-2RS 6006-2RS

400 YFM 400 Kodiak 4WD 03-04 6006-2RS 6006-2RS 62/28-2RS

400 YFM 400 Kodiak 4WD 05-06 6006-2RS 6006-2RS 20-1026 20-1026

400 YFM 400FW Big Bear 4WD 00-06 6006-2RS 6006-2RS 62/28-2RS

400 YFM 400 Big Bear 2WD 00-04 6006-2RS 6006-2RS 62/28-2RS

450 YFM 450FA Kodiak 03-04 6006-2RS 6006-2RS 62/28-2RS

450 YFM 450FA Kodiak 05-06 6006-2RS 6006-2RS

450 YFZ 450 04-09 6004-2RS 933-2024 6202-2RS 6908-2RS 2 6908-2RS 2

600 YFM 600FW Grizzly 4x4 98 6006-2RS 6006-2RS 62/28-2RS

600 YFM 600FW Grizzly 4x4 99-01 6006-2RS 6006-2RS 62/28-2RS

660 YFM 660 Grizzly 02 6006-2RS 6006-2RS 6006-2RS 6006-2RS

660 YFM 660 Grizzly 03-08 25-1496 25-1496



470 www.Trans Can Imports.com  ¨¨¨  1-800-661-9438 ATV

ATV AXLE BEARINGS AND SEALS

660 YFM 660R Raptor 01-06 6004-2RS 933-2024 6202-2RS 6007-2RS 6007-2RS

660 YFM 700 Grizzly 07+ 25-1496 25-1496

700 YFM 700R Raptor 06+ 6004-2RS 933-2024 6202-2RS

YXR Rhino 450/ 660/ 700 04-13 6006-2RS 6006-2RS 6206-2RS 6206-2RS

Inside Inside Outside Outside Right qty Right Left qty Left

Bearing Seal Bearing Seal Bearing Seal Bearing Seal

cc Model Year

Rear Wheel Front Wheel

Yamaha 



460 www.Trans Can Imports.com  ¨¨¨  1-800-661-9438 ATV

ATV/UTV WHEEL BEARING & SEAL KITS
Model Year Front Qty Rear Qty Model Year Front Qty Rear Qty

Arctic Cat Arctic Cat

50 ATV 50 All 25-1395 2 25-1396 1 500 500 XR 2015 25-1496 2 25-1496 2
90 ATV 90 All 25-1395 2 25-1396 1 500 500 XT EFI 13-14 25-1496 2 25-1496 2
90 90 2-stroke 02-04 25-1395 2 25-1396 1 500 Alterra 500 16-18 25-1496 2 25-1496 2
90 90 4-stroke 04-05 2 25-1396 1 500 HDX 500 XT 2017 25-1496 2 25-1496 2
90 90 DVX 06-17 25-1395 2 25-1396 1 550 550 EFI 4x4 12-13 25-1496 2 25-1496 2
90 90 Utility 06-13 25-1395 2 25-1396 1 550 550 H1 FIS 4x4 09-11 25-1496 2 25-1496 2
90 90 Utility 2x4 14-16 25-1395 2 25-1435 1 550 550 Prowler 09-15 25-1496 2 25-1496 2
90 Alterra 90 17-18 25-1395 2 25-1435 1 550 550 TRV 4x4 w/AT 09-13 25-1496 2 25-1496 2
150 ATV 150S All 2 25-1314 1 550 550 TRV XT/LTD 14-15 25-1496 2 25-1496 2
150 150 Utility 09-18 25-1049 2 25-1595 1 550 550 XR EFI/.XT/LTD 2015 25-1496 2 25-1496 2
220 ATV 220S All 2 25-1320 1 550 550 XT EFI 4x4 2013 25-1496 2 25-1496 2
250 250 2x4 99-05 25-1434 2 25-1434 2 550 550 XT EFI 4x4 2014 25-1496 2 25-1496 2
250 250 2x4 06-09 25-1035 2 25-1709 2 550 550 XT LTD EFI 12-14 25-1496 2 25-1496 2
250 250 4x4 01-04 25-1434 2 25-1434 2 550 Alterra 550 2016 25-1496 2 25-1496 2
250 250 4x4 2005 25-1496 2 25-1496 2 650 650 4x4 H1 05-11 25-1496 2 25-1496 2
250 250 DVX 06-08 25-1035 2 25-1527 1 650 650 4x4 H1 Mud Pro 10-11 25-1496 2 25-1496 2
300 ATV 300 All 2 25-1320 1 650 650 4x4 w/AT V2 2004 25-1434 2 25-1496 2
300 300 2x4 98-04 25-1434 2 25-1434 2 650 650 4x4 w/AT V2 05-06 25-1496 2 25-1496 2
300 300 2x4 10-16 25-1035 2 25-1709 1 650 650 H1 TBX 07-09 25-1496 2 25-1496 2
300 300 4x4 98-04 25-1434 2 25-1434 2 650 650 Prowler 2007 25-1496 2 25-1496 2
300 300 4x4 2005 25-1496 2 25-1496 2 650 650 Prowler XT 06-09 25-1496 2 25-1496 2
300 300 DVX 09-15 25-1434 2 25-1527 1 650 650i 4x4 2012 25-1496 2 25-1496 2
350 350 CR 2012 25-1434 2 25-1496 2 700 700 AT EFI 2006 25-1496 2 25-1496 2
350 350 Utility 4x4 2011 25-1434 2 25-1496 2 700 700 Diesel 07-15 25-1496 2 25-1496 2
366 366 FIS w/AT 08-11 25-1434 2 25-1496 2 700 700 EFI 07-08 25-1496 2 25-1496 2
375 375 2x4 w/AT 2002 25-1434 2 25-1436 1 700 700 EFI/LTD 11-14 25-1496 2 25-1496 2
375 375 4x4 w/AT 2002 25-1496 2 25-1436 1 700 700 EFI H1 08-11 25-1496 2 25-1496 2
400 400 2x4 98-00 25-1434 2 25-1433 2 700 700 EFI H1 Mud Pro 09-11 25-1496 2 25-1496 2
400 400 2x4 2001 25-1434 2 25-1436 1 700 700 GT EFI 2012 25-1496 2 25-1496 2
400 400 4x4 98-00 25-1434 2 25-1433 2 700 700 LTD EFI 2013 25-1496 2 25-1496 2
400 400 4x4 14-15 25-1434 2 25-1496 2 700 700 Prowler HDX 12-14 25-1496 2 25-1496 2
400 400 4x4 w/AT 2003 25-1042 2 25-1436 2 700 700 Prowler HDX XT 15-16 25-1496 2 25-1496 2
400 400 4x4 w/AT, MT 2004 25-1434 2 25-1436 1 700 700 Prowler XT 2009 25-1496 2 25-1496 2
400 400 4x4 w/MT 01-03 25-1434 2 25-1436 2 700 700 Prowler XTX 08-14 25-1496 2 25-1496 2
400 400 DVX 04-08 25-1496 2 25-1331 1 700 700 TBX 10-18 25-1496 2 25-1496 2
400 400 FIS 2x4 w/AT 2003 25-1434 2 25-1434 2 700 700 TRV 08-15 25-1496 2 25-1496 2
400 400 FIS 2x4 w/AT, MT 2004 25-1434 2 25-1434 2 700 700 XR 2015 25-1496 2 25-1496 2
400 400 FIS 2x4 w/MT 2003 25-1496 2 25-1434 2 700 700 XT 13-14 25-1496 2 25-1496 2
400 400 FIS 4x4 TRV 09-14 25-1496 2 25-1496 2 700 700 EFI Mud Pro/LTD 12-15 25-1496 2 25-1496 2
400 400 FIS 4x4 w/AT 2003 25-1434 2 25-1434 2 700 700 H1 TRV GT EFI 11-12 25-1496 2 25-1496 2
400 400 FIS 4x4 w/AT 13-14 25-1496 2 25-1496 2 700 Alterra 700 16-17 25-1496 2 25-1496 2
400 400 FIS 4x4 w/AT, MT 2004 25-1434 2 25-1434 2 700 Alterra 700 XT EPS 2017 25-1496 2 25-1496 2
400 400 FIS 4x4 w/AT, MT 05-08 25-1496 2 25-1496 2 700 Alterra TRV 700 XT EPS 2017 25-1496 2 25-1496 2
400 400 FIS 4x4 w/MT 02-03 25-1434 2 25-1434 2 700 HDX 700 Crew XT 2017 25-1496 2 25-1718 2
400 400 TBX 4x4 2004 25-1434 2 25-1434 2 700 HDX 700 XT 2017 25-1496 2 25-1496 2
400 400 TBX 4x4 05-06 25-1496 2 25-1496 2 700 Prowler 700 XT 2017 25-1496 2 25-1496 2
400 400 VP 4x4 w/AT, MT 05-06 25-1496 2 25-1496 2 700 Wildcat Trail/XT 14-16 25-1496 2 25-1496 2
400 Alterra 400 16-17 25-1496 2 25-1496 2 1000 1000 LTD Mud Pro 15-17 25-1496 2 25-1496 2
425 425 4x4 11-12 25-1496 2 25-1496 2 1000 1000 Prowler XT 2015 25-1496 2 25-1496 2
450 450 4x4 14-15 25-1496 2 25-1496 2 1000 1000 Prowler XTZ 09-14 25-1496 2 25-1496 2
450 450 H1 10-1 25-1496 2 25-1496 2 1000 1000 TRV Cruiser 09-13 25-1496 2 25-1496 2
450 450 TRV 2012 25-1496 2 25-1496 2 1000 1000 TRV XT/LTD 2015 25-1496 2 25-1496 2
450 450 XC 11-18 25-1496 2 25-1496 2 1000 1000 XT 13-14 25-1496 2 25-1496 2
450 450i EFI 11-12 25-1496 2 25-1496 2 1000 1000 XT 15-17 25-1496 2 25-1496 2
450 Alterra 450 2016 25-1496 2 25-1496 2 1000 1000i GT 2012 25-1496 2 25-1496 2
454 454 2x4 97-98 25-1434 2 14-1433 1 1000 1000i LTD EFI Mud Pro 12-14 25-1496 2 25-1496 2
454 454 4x4 96-98 25-1434 2 14-1433 1 1000 Alterra TRV 1000 XT 2017 25-1496 2 25-1496 2
500 500 4x4 98-99 25-1434 2 14-1433 1 1000 H2 Mud Pro 10-11 25-1496 2 25-1496 2
500 500 4x4 w AT, MT 00-01 25-1434 2 25-1436 2 1000 H2 Thundercat 05-11 25-1496 2 25-1496 2
500 500 4x4 w/AT 2002 25-1434 2 25-1436 1 1000 Prowler 1000 XT 2017 25-1496 2 25-1496 2
500 500 EFI 4x4 w/AT 13-17 25-1496 2 25-1496 2 1000 Wildcat 1000 13-14 25-1496 2 25-1496 2
500 500 FIS 4x4 w/AT, MT 02-04 25-1434 2 25-1434 2 1000 Wildcat 1000 2015 25-1496 2 25-1496 2
500 500 FIS 4x4 w/AT, MT 05-09 25-1496 2 25-1496 2 1000 Wildcat 4X 14-15 25-1496 2 25-1496 2
500 500 FIS TBX 4x4 2002 25-1434 2 25-1436 2 1000 Wildcat GT 2012 25-1496 2 25-1496 2
500 500 FIS TBX/TRV 4x4 03-04 25-1434 2 25-1434 2 1000 Wildcat X / LTD 14-15 25-1496 2 25-1496 2
500 500 FIS TBX 4x4 05-06 25-1496 2 25-1496 2 1000 Wildcat X / LTD 2016 25-1496 2 25-1496 2
500 500 FIS TRV 4x4 05-08 25-1496 2 25-1496 2 1000 Wildcat X ERS 2018 25-1496 2 25-1118 2
500 500 Prowler 2017 25-1496 2 25-1496 2
500 500 Prowler HDX 14-15 25-1496 2 25-1496 2
500 500 TRV 13-15 25-1496 2 25-1496 2



461www.Trans Can Imports.com ¨¨¨1-800-661-9438 ATV

ATV/UTV WHEEL BEARING & SEAL KITS
Model Year Front Qty Rear Qty Model Year Front Qty Rear Qty

50 DS 50 02-06 25-1395 2 25-1396 1 800 Outlander 800 XMR 11-12 25-1516 2 25-1516 2
50 Quest 50 2003 25-1395 2 25-1396 1 800 Outlander 800 XT 2011 25-1516 2 25-1516 2
70 DS 70 08-18 25-1395 2 25-1396 1 800 Outlander 800R STD 09-15 25-1516 2 25-1516 2
90 DS 90 (all) 02-18 25-1395 2 25-1396 1 800 Outlander 800R XT 09-14 25-1516 2 25-1516 2
90 Quest 90 4 stroke 2003 25-1395 2 25-1396 1 800 Outlander 800R XMR 2015 25-1516 2 25-1516 2
175 Rally 175 03-07 25-1431 2 25-1495 1 800 Outlander Max 800 LTD 07-08 25-1516 2 25-1516 2
250 DS 250 06-18 25-1566 2 25-1698 1 800 Outlander Max 800 STD/XT 06-08 25-1516 2 25-1516 2
330 Outlander 330 04-05 25-1520 2 25-1752 2 800 Outlander Max 800R EFI 2015 25-1516 2 25-1516 2
400 Outlander 400 03-04 25-1520 2 25-1752 2 800 Outlander Max 800R LTD 09-12 25-1516 2 25-1516 2
400 Outlander 400 STD (2x4, 4x4) 2005 25-1520 2 25-1752 2 800 Outlander Max 800R STD/XT 09-14 25-1516 2 25-1516 2
400 Outlander 400 STD 06-15 25-1516 2 25-1516 2 800 Outlander 800 XXC 2011 25-1516 2 25-1516 2
400 Outlander 400 XT 04-05 25-1520 2 25-1752 2 800 Renegade 800 07-15 25-1516 2 25-1516 2
400 Outlander 400 XT 06-08 25-1516 2 25-1516 2 800 Renegade 800 X 08-09 25-1516 2 25-1516 2
400 Outlander 400 XT 12-14 25-1516 2 25-1516 2 800 Renegade 800 XXC 10-14 25-1516 2 25-1516 2
400 Outlander Max 400 EFI 2015 25-1516 2 25-1516 2 850 Outlander 850 DPS / MAX DPS 17-18 25-1516 2 25-1516 2
400 Outlander Max 400 STD 2005 25-1520 2 25-1752 2 850 Renegade 850 / XXC 16-17 25-1516 2 25-1516 2
400 Outlander Max 400 STD 06-11 25-1516 2 25-1516 2 900 Maverick X3 900 HO 2018 25-1751 2 25-1751 2
400 Outlander Max 400 XT 06-08 25-1516 2 25-1516 2 1000 Maverick X3 / X3 DPS / X3 XRS 2017 25-1751 2 25-1751 2
400 Outlander Max 400 STD/XT 13-15 25-1516 2 25-1516 2 1000 Commander 1000 DPS, LTD, STD, XT 11-18 25-1516 2 25-1516 2
450 DS 450 09-13 25-1516 2 25-1565 1 1000 Commander 1000 XTP 15-17 25-1516 2 25-1516 2
450 DS 450 14-15 25-1516 2 25-1663 2 1000 Commander Max 1000 DPS, LTD, XT 14-18 25-1516 2 25-1516 2
450 DS 450 STD/X 2008 25-1516 2 25-1565 2 1000 Commander Max 1000 STD 15-18 25-1516 2 25-1516 2
450 Outlander DPS 450 EFI 16-18 25-1516 2 25-1516 2 1000 Commander Max 1000 XTP 2015 25-1516 2 25-1516 2
450 Outlander L 450 EFI / L MAX 450 EFI 15-16 25-1516 2 25-1516 2 1000 Defender 1000, DPS, XT 16-18 25-1516 2 25-1516 2
450 Outlander Max 450 EFI 17-18 25-1516 2 25-1516 2 1000 Defender 1000 XMR, XTP 2018 25-1516 2 25-1516 2
450 Outlander Max DPS 450 EFI 16-18 25-1516 2 25-1516 2 1000 Maverick 1000 STD 13-18 25-1516 2 25-1516 2
450 Outlander STD 450 EFI 17-18 25-1516 2 25-1516 2 1000 Maverick 1000 Turbo 16-17 25-1516 2 25-1516 2
500 Defender 500/DPS (all) 17-18 25-1516 2 25-1516 2 1000 Maverick 1000 Turbo XDS 15-16 25-1516 2 25-1516 2
500 Outlander 500 LTD 2010 25-1516 2 25-1516 2 1000 Maverick 1000 Turbo XRS 2016 25-1516 2 25-1516 2
500 Outlander 500 STD 07-15 25-1516 2 25-1516 2 1000 Maverick 1000 XC 16-17 25-1516 2 25-1516 2
500 Outlander 500 XT 07-14 25-1516 2 25-1516 2 1000 Maverick 1000 XDS 14-16 25-1516 2 25-1516 2
500 Oulabder L 500 EFI/ L Max 500 EFI 2015 25-1516 2 25-1516 2 1000 Maverick 1000 XMR 14-18 25-1516 2 25-1516 2
500 Outlander Max 500 EFI 2015 25-1516 2 25-1516 2 1000 Maverick 1000 XRS 13-15 25-1516 2 25-1516 2
500 Outlander Max 500 STD / XT 07-14 25-1516 2 25-1516 2 1000 Maverick 1000 XXC 14-17 25-1516 2 25-1516 2
500 Quest 500 02-04 25-1519 2 25-1518 2 1000 Maverick Max 1000 STD 14-18 25-1516 2 25-1516 2

500 Renegade 500 08-15 25-1516 2 25-1516 2 1000 Maverick Max 1000 Turbo , Turbo XRS 16-17 25-1516 2 25-1516 2
500 Traxter 500 99-01 25-1509 2 25-1518 2 1000 Maverick Max 1000 Turbo XDS 15-17 25-1516 2 25-1516 2
500 Traxter 500 02-05 25-1519 2 25-1518 2 1000 Maverick Max 1000 XC 2016 25-1516 2 25-1516 2
570 Outlander DPS 570 EFI 16-18 25-1516 2 25-1516 2 1000 Maverick Max 1000 XDS 14-16 25-1516 2 25-1516 2
570 Outlander L/LE 570 EFI 2016 25-1516 2 25-1516 2 1000 Maverick Max 1000 XMR 17-18 25-1516 2 25-1516 2
570 Outlander Max 570 DPS EFI 16-18 25-1516 2 25-1516 2 1000 Maverick Max 1000 XRS 14-15 25-1516 2 25-1516 2
570 Outlander Max DPS 570 EFI 16-18 25-1516 2 25-1516 2 1000 Maverick Max 1000 XXC 2016 25-1516 2 25-1516 2
570 Outlander STD 570 EFI 17-18 25-1516 2 25-1516 2 1000 Maverick Max Trail 1000, DPS 2018 25-1516 2 25-1516 2
570 Outlander XMR 570 EFI 17-18 25-1516 2 25-1516 2 1000 Outlander 1000 DPS 13-18 25-1516 2 25-1516 2
570 Renegade 570 EFI 16-18 25-1516 2 25-1516 2 25-1516 2 25-1516 2
570 Renegade XMR 570 EFI 2018 25-1516 2 25-1516 2 25-1516 2
650 DS 650 00-07 25-1431 2 25-1432 1 1000 Outlander 1000 XMR, XT, XTP 13-17 25-1516 2 25-1516 2

25-1516 2 25-1516 2 1000 Outlander Max 1000, XT, XTP 13-17 25-1516 2 25-1516 2
25-1516 2 1000 Outlander Max 1000 LTD 15-16 25-1516 2 25-1516 2

650 Outlander 650 STD 06-15 25-1516 2 25-1516 2 1000 Renegade 1000 12-18 25-1516 2 25-1516 2
650 Outlander 650 XMR 13-15 25-1516 2 25-1516 2 1000 Renegade 1000 XMR 16-17 25-1516 2 25-1516 2
650 Outlander 650 XT 06-14 25-1516 2 25-1516 2 1000 Renegade 1000 XXC 12-17 25-1516 2 25-1516 2
650 Outlander DPS 650 EFI 2017 25-1516 2 25-1516 2 Maverick X3 / X3 DPS / X3 XRS 2017 25-1751 2 25-1751 2
650 Outlander Max 650 EFI 2017 25-1516 2 25-1516 2 Maverick X3 Max Turbo, Turbo R 2018 25-1751 2 25-1751 2
650 Outlander Max 650 STD 06-15 25-1516 2 25-1516 2 Maverick X3 Max Turbo R XDS, XRS 2018 25-1751 2 25-1751 2
650 Outlander Max 650 XT 06-14 25-1516 2 25-1516 2 Maverick X3 Max Turbo R XMR, XMC 2018 25-1751 2 25-1751 2
650 Quest 650 STD/XT 02-04 25-1519 2 25-1518 2 Maverick X3 Turbo R XMR, XMC, XRS 2018 25-1751 2 25-1751 2
650 Traxter 650 04-05 25-1519 2 25-1518 2 Maverick X3 Turbo XMR, XMC 2018 25-1751 2 25-1751 2
800 Commander 800 DPS 13-18 25-1516 2 25-1516 2 Honda
800 Commander 800 LTD 16-17 25-1516 2 25-1516 2 70 ATC 70 73-77 25-1187 1 25-1277 1
800 Commander 800 STD 11-18 25-1516 2 25-1516 2 70 ATC 70 78-85 25-1187 1 25-1578 1
800 Commander 800 XT 11-18 25-1516 2 25-1516 2 70 TRX 70 86-87 25-1050 2 25-1578 1
800 Commander 800 XTP 16-17 25-1516 2 25-1516 2 90 ATC 90 73-78 25-1049 1 25-1116 1
800 Commander Max 800 DPS 16-18 25-1516 2 25-1516 2 90 TRX 90 93-18 25-1052 2 25-1029 1
800 Defender 800 16-17 25-1516 2 25-1516 2 110 ATC 110 79-81 25-1211 1 25-1122 1
800 Defender 800 DPS 16-17 25-1516 2 25-1516 2 110 ATC 110 82-85 25-1317 1 25-1122 1
800 Defender 800 XT 16-18 25-1516 2 25-1516 2 125 ATC 125M 84-85 25-1317 1 25-1122 1
800 Maverick 800R 2018 25-1516 2 25-1516 2 125 ATC 125M 86-87 25-1317 1 25-1032 1
800 Maverick 800R DPS 2018 25-1516 2 25-1516 2 125 TRX 125 85-86 25-1052 2 25-1122 1
800 Outlander 800 STD/XT 06-08 25-1516 2 25-1516 2 125 TRX 125 87-88 25-1052 2 25-1032 1

Middle
1000 Outlander 1000 EFI 6x6 2015

650 Outlander 650 6x6 2015
Middle

Can Am Can Am



462 www.Trans Can Imports.com  ¨¨¨  1-800-661-9438 ATV

ATV/UTV WHEEL BEARING & SEAL KITS
Model Year Front Qty Rear Qty Model Year Front Qty Rear Qty

185 ATC 185 80-83 25-1317 1 25-1122 1 500 TRX 500FGA 05-08 25-1572 2 25-1037 2
200 ATC 200 81-83 25-1317 1 25-1122 1 500 TRX 500FPA 09-14 25-1572 2 25-1037 1
200 ATC 200E 82-83 25-1317 1 25-1122 1 500 TRX 500FPE 07-13 25-1572 2 25-1037 1
200 ATC 200ES 1984 25-1317 1 25-1365 1 500 TRX 500FPM 08-13 25-1572 2 25-1037 2
200 ATC 200M 84-85 25-1317 1 25-1122 1 500 TRX 500TM 05-06 25-1530 2 25-1037 2
200 ATC 200S 84-86 25-1317 1 25-1122 1 650 TRX 650 Rincon 03-05 25-1005 2 25-1480 2
200 ATC 200X 83-84 25-1317 1 25-1122 1 680 TRX 680 Rincon 06-18 25-1572 2 25-1480 2
200 ATC 200X 86-87 25-1317 1 25-1445 1 700 MUV 700 Big Red 09-13 25-1700 2 25-1700 2
200 TRX 200 84-85 25-1112 2 25-1365 1 700 Pioneer 700/700-4 2014 25-1699 2 25-1701 2
200 TRX 200 90-91 25-1510 2 25-1124 1 700 Pioneer 700/700-4 15-18 25-1699 2 25-1728 2
200 TRX 200 96-97 25-1510 2 25-1124 1 700 Pioneer 700 Deluxe /700-4 Deluxe 17-18 25-1699 2 25-1728 2
200 TRX 200D 90-97 25-1510 2 25-1124 1 700 TRX 700XX 08-09 25-1576 2 25-1624 2
200 TRX 200SX 86-88 25-1208 2 25-1126 1 1000 Pioneer 1000/1000-5 16-18 25-1728 2 25-1728 2
250 ATC 250ES 1985 25-1317 1 25-1019 1 1000 Pioneer 1000 LTD/1000-5 LTD 17-18 25-1728 2 25-1728 2
250 ATC 250ES 1986 25-1317 1 25-1036 1 1000 Pioneer 1000-5 Deluxe 16-18 25-1728 2 25-1728 2
250 ATC 250R 81-84 25-1317 1 25-1122 1 Kawasaki
250 ATC 250R 85-86 25-1317 1 25-1320 1 50 KFX 50 03-06 25-1194 2 25-1397 1
250 ATC 250SX 1985 25-1317 1 25-1019 1 50 KFX 50 07-09 25-1395 2 25-1396 1
250 ATC 250SX 86-87 25-1317 1 25-1036 1 50 KFX 50 13-17 25-1395 2 25-1396 1
250 FL 250 77-84 25-1070 2 25-1114 1 80 KFX 80 03-06 25-1194 2 25-1158 1
250 TRX 250EX Sportrax 01-18 25-1083 2 25-1034 1 90 KFX 90 07-17 25-1395 2 25-1396 1
250 TRX 250 Fourtrax 85-87 25-1112 2 25-1036 1 110 KLF 110 87-88 25-1215 2 25-1114 1
250 TRX 250 Recon 2001 25-1510 2 25-1034 1 110 KLT 110 84-86 25-1046 1 25-1114 1
250 TRX 250TE/250TM Recon 02-18 25-1510 2 25-1034 1 160 KLT 160 1985 25-1046 1 25-1118 1
250 TRX 250R 86-87 25-1112 2 25-1320 1 185 KLF 185 Bayou 85-88 25-1215 2 25-1118 1
250 TRX 250R 88-89 25-1035 2 25-1320 1 185 KLT 185 86-87 25-1046 1 25-1118 1
250 TRX 250X 87-88 25-1035 2 25-1320 1 200 KLT 200A 81-83 25-1046 1 25-1527 1
250 TRX 250X 91-92 25-1035 2 25-1320 1 200 KLT 200B 1983 25-1046 1 25-1144 1
300 TRX 300EX 2008 25-1035 2 25-1320 1 200 KLT 200C 83-84 25-1046 1 25-1128 1
300 TRX 300 Fourtrax 88-92 25-1035 2 25-1123 1 220 KLF 220 Bayou 88-02 25-1088 2 25-1275 1
300 TRX 300 Fourtrax 93-00 25-1112 2 25-1123 1 250 KFX 250 Mojave 87-04 25-1023 2 25-1132 1
300 TRX 300FW Fourtrax 4x4 88-00 25-1003 2 25-1123 1 250 KLF 250 Bayou 03-11 25-1088 2 25-1275 1
300 TRX 300X 2009 25-1035 2 25-1320 1 250 KLT 250A 82-83 25-1046 1 25-1144 1
350 ATC 350X 85-86 25-1317 2 25-1320 1 250 KLT 250C 83-85 25-1046 1 25-1128 1
350 FL 350 1985 25-1112 2 250 KXF 250 Tectate 87-88 25-1023 2 25-1132 1

350 TRX 350 1986 25-1028 2 25-1036 1 250 KXT 250 Tectate 1984 25-1249 1 25-1121 1
350 TRX 350 1987 25-1004 2 25-1036 1 250 KXT 250 Tectate 1985 25-1216 1 25-1121 1
350 TRX 350D 87-89 25-1004 2 25-1036 1 250 KXT 250 Tectate 86-87 25-1216 1 25-1132 1
350 TRX 350FE/TE 00-06 25-1513 2 25-1037 1 300 KEF 300 Lakota 95-03 25-1023 2 25-1132 1
350 TRX 350FM/TM Fourtrax Rancher 00-06 25-1513 2 25-1037 1 300 KLF 300A Bayou 86-87 25-1070 2 25-1274 1
400 FL 400 89-90 25-1724 2 25-1725 1 300 KLF 300B Bayou 88-05 25-1023 2 25-1274 1
400 TRX 400ES 99-01 25-1035 2 25-1320 1 300 KLF 300C Bayou 4x4 89-05 25-1502 2 25-1275 1
400 TRX 400EX 02-08 25-1083 2 25-1320 1 300 KVF 300 Brute Force 12-18 25-1035 2 25-1709 2
400 TRX 400FA 04-07 25-1513 2 25-1037 1 300 KVF 300A Prairie 4x4 99-02 25-1502 2 25-1146 1
400 TRX 400FGA Fourtrax Rancher 4x4 04-07 25-1513 2 25-1037 1 300 KVF 300B Prairie 2x4 99-02 25-1502 2 25-1146 1
400 TRX 400FW Fourtrax Foreman 4x4 95-03 25-1005 2 25-1037 1 300 Mule 500 91-95 25-1403 2 25-1274 1
400 TRX 400X 09-14 25-1083 2 25-1320 1 300 Mule 520 00-01 25-1403 2 25-1274 1
420 TRX 420FA 15-18 25-1688 2 25-1689 2 300 Mule 550 97-04 25-1403 2 25-1274 1
420 TRX 420FA IRS/FPA IRS 09-14 25-1003 2 25-1624 2 360 KVF 360A Prairie 4x4 03-13 25-1497 2
420 TRX 420FA IRS 15-18 25-1688 2 25-1624 2 360 KVF 360B Prairie 03-11 25-1497 2
420 TRX 420FE/FM 07-13 25-1003 2 25-1580 1 360 KVF 360C Prairie 4x4 03-13 25-1497 2
420 TRX 420FE/FM 14-18 25-1688 2 25-1689 1 400 KFX 400 03-06 25-1042 2 25-1331 1
420 TRX 420FPE/FPM 11-13 25-1003 2 25-1580 1 400 KLF 400 Bayou 93-99 25-1502 2 25-1275 1
420 TRX 420TE/TM 07-13 25-1530 2 25-1580 1 400 KVF 400A Prairie 4x4 97-98 25-1502 2 25-1146 1
420 TRX 420TE/TM 14-16 25-1688 2 25-1689 1 400 KVF 400B Prairie 1998 25-1502 2 25-1146 1
420 TRX 420TM 17-18 25-1688 2 25-1689 1 400 KVF 400C Prairie 4x4 99-02 25-1502 2 25-1146 1
450 TRX 450FE/FM 02-04 25-1005 2 25-1037 1 400 KVF 400D Prairie 99-02 25-1502 2 25-1146 1
450 TRX 450ER 06-14 25-1083 2 25-1479 1 400 Mule 600 05-16 25-1536 2 25-1571 1
450 TRX 450ES 98-01 25-1005 2 25-1037 1 400 Mule 610 4x4 05-16 25-1536 2 25-1571 1
450 TRX 450R 04-09 25-1083 2 25-1479 1 400 Mule SX 17-18 25-1536 2 25-1571 1
450 TRX 450S 98-01 25-1005 2 25-1037 1 450 KFX 450R 08-14 25-1035 2 25-1560 1
500 Pioneer 500 15-16 25-1699 2 25-1701 2 450 Mule 1000 1988 25-1403 2 25-1405 1
500 Pioneer 500 2017 25-1699 2 25-1728 2 540 Mule 2010 1990 25-1404 2 25-1405 1
500 TRX 500FA 01-04 25-1005 2 25-1037 1 540 Mule 2020 1990 25-1404 2 25-1405 1
500 TRX 500FA 05-14 25-1572 2 25-1037 2 540 Mule 2030 1991 25-1404 2 25-1405 1
500 TRX 500FA 15-18 25-1688 2 25-1624 2 620 Mule 2500 94-00 25-1404 2 25-1405 1
500 TRX 500FE/FM 06-13 25-1572 2 25-1037 2 620 Mule 2510 4x4 93-00 25-1404 2 25-1405 1
500 TRX 500FE/FM 14-18 25-1688 2 25-1689 1 620 Mule 2510 Diesel 00-01 25-1404 2 25-1405 1
500 TRX 500FM IRS 15-18 25-1688 2 25-1624 2 620 Mule 2510 Diesel 2002 25-1404 2 25-1536 2
500 TRX 500FGA 2004 25-1005 2 25-1037 2 620 Mule 2520 93-00 25-1404 2 25-1405 1

Honda Honda



463www.Trans Can Imports.com ¨¨¨1-800-661-9438 ATV

ATV/UTV WHEEL BEARING & SEAL KITS
Model Year Front Qty Rear Qty Model Year Front Qty Rear Qty

620 Mule 3000 01-08 25-1404 2 25-1536 2 335 Sportsman 335 99-00 25-1008 2 25-1150 1
620 Mule 3010 4x4 01-08 25-1404 2 25-1536 2 335 Worker 335 1999 25-1008 2 25-1150 1
620 Mule 3010 Diesel 01-08 25-1404 2 25-1536 2 350 350L 2x4 1993 25-1129 2 25-1321 1
620 Mule 3020 01-03 25-1404 2 25-1536 2 350 350L 4x4 1993 25-1008 2 25-1321 1
620 Mule 4000 09-18 25-1404 2 25-1536 2 350 Big Boss 350L 6x6 1993 25-1008 2 25-1321 1
620 Mule 4010 4x4 09-18 25-1404 2 25-1536 2 350 Trail Boss 350L 2x4 90-92 25-1129 2 25-1321 1
620 Mule 4010 Diesel 09-13 25-1404 2 25-1536 2 350 Trail Boss 350L 4x4 90-92 25-1008 2 25-1321 1
650 KVF 650 Prairie 02-03 25-1497 2 350 Sportsman 350 4x4 1993 25-1008 2 25-1321 1
650 KVF 650 Brute Force 05-13 25-1497 2 400 400L 2x4 94-95 25-1129 2 25-1321 1
650 KVF 650i Brute Force 06-13 25-1497 2 25-1536 2 400 400L 4x4 1994 25-1008 2 25-1321 1
700 KFX 700 V Force 04-09 25-1035 2 400 Big Boss 400L 6x6 94-97 25-1008 2 25-1321 1
700 KVF 700 Prairie 04-06 25-1497 2 400 Magnum 400L 6x6 96-97 25-1008 2 25-1321 1
750 KVF 750 Brute Force 05-18 25-1497 2 25-1536 2 400 Scrambler 400 2x4 00-02 25-1129 2 25-1151 1
750 KVF 750 Brute Force EPS 12-18 25-1497 2 25-1536 2 400 Scrambler 400 4x4 95-97 25-1008 2 25-1321 1
750 Teryx 4 4x4 12-13 25-1496 2 25-1702 2 400 Scrambler 400 4x4 98-02 25-1008 2 25-1151 1
750 Teryx 750 4x4 08-13 25-1496 2 25-1536 2 400 Sport 400 94-99 25-1129 2 25-1321 1
800 Mule Pro FX 800 15-18 25-1730 2 25-1728 2 400 Sportsman 400 4x4 94-97 25-1008 2 25-1321 1
800 Mule Pro FXT 800 15-18 25-1730 2 25-1728 2 400 Sportsman 400 4x4 01-03 25-1008 2 25-1150 1
800 Teryx 4 4x4 800 14-18 25-1496 2 25-1702 2 400 Sportsman 400 4x4 2005 25-1424 2 25-1150 1
800 Teryx 4x4 800 14-18 25-1496 2 25-1702 2 400 Sportsman 400 4x4 AA,AE,AG 2004 25-1008 2 25-1150 1
1000 Mule Pro-DX 16-18 25-1516 2 25-1728 2 400 Sportsman 400 4x4 AQ,-AV 2004 25-1424 2 25-1150 1
1000 Mule Pro-DXT 16-18 25-1516 2 25-1728 2 400 Trail Blazer 400 2003 25-1129 2 25-1151 1
Polaris 400 Xplorer 400L 4x4 95-98 25-1008 2 25-1321 1
50 Scrambler 50 01-03 25-1395 2 25-1396 1 400 Xplorer 400L 4x4 99-01 25-1008 2 25-1151 1
50 Predator 50 04-07 25-1395 2 25-1499 1 400 Xpress 400L 96-97 25-1129 2 25-1321 1
90 Outlaw 90 2007 25-1395 2 25-1435 1 425 Magnum 425 2x4 95-98 25-1129 2 25-1321 1
90 Predator 90 2003 25-1395 2 25-1396 1 425 Magnum 425 4x4 95-98 25-1008 2 25-1321 1
90 Predator 90 04-06 25-1395 2 25-1435 1 425 Xpedition 425 99-01 25-1008 2 25-1322 1
90 Scrambler 90 01-03 25-1395 2 25-1396 1 425 Xpedition 425 2002 25-1008 2 25-1424 1
90 Sportsman 90 01-03 25-1395 2 25-1396 1 450 Sportsman 450 2006 25-1424 2 25-1150 1
90 Sportsman 90 04-06 25-1395 2 25-1435 1 455 Diesel 455 99-01 25-1008 2 25-1150 1
200 Phoenix 200 2005 25-1500 2 500 ATP 500 4x4 04-05 25-1424 2 25-1424 1
200 Phoenix 200 06-07 25-1541 2 500 ATV 500 PRO 2002 25-1424 2 25-1424 1
200 Sawtooth 2006 25-1451 2 500 Big Boss 500 6x6 98-99 25-1008 2 25-1321 1
250 Big Boss 250 4x6 89-92 25-1129 2 25-1321 1 500 Big Boss 500 6x6 00-03 25-1008 2 25-1151 1

250 Big Boss 250 6x6 91-93 25-1008 2 25-1321 1 500 Big Boss 500 6x6 (Middle) 00-03 25-1321 1
250 Cyclone 250 1987 25-1098 2 25-1321 1 500 Magnum 500 2x4 HDS 2002 25-1129 2 25-1424 1
250 Scrambler 250 85-86 25-1104 2 25-1321 1 500 Magnum 500 4x4 99-01 25-1008 2 25-1322 1
250 Trail Blazer 250 90-98 25-1129 2 25-1321 1 500 Magnum 500 4x4 AA/AB/FB 2002 25-1424 2 25-1424 1
250 Trail Blazer 250 99-04 25-1129 2 25-1151 1 500 Magnum 500 4x4 HDS 01-03 25-1424 2 25-1424 1
250 Trail Blazer 250 05-06 25-1500 2 25-1151 1 500 Outlaw 500 06-07 25-1500 2 25-1424 2
250 Trail Boss 250 1988 25-1129 2 25-1321 1 500 Predator 500 2003 25-1500 2 25-1507 1
250 Trail Boss 250 2x4 85-87 25-1098 2 25-1321 1 500 Predator 500 04-07 25-1500 2 25-1498 1
250 Trail Boss 250 2x4 88-99 25-1129 2 25-1321 1 500 PTV Series 10 4x4 2003 25-1424 2 25-1424 2
250 Trail Boss 250 4x4 87-95 25-1008 2 25-1321 1 500 PTV Series 10 6x6 2003 25-1008 2 25-1151 1
250 Trail Boss 250 R/ES 1988 25-1129 2 25-1321 1 500 PTV Series 10 6x6 (Middle) 2003 25-1321 1
250 Xplorer 250 4x4 01-02 25-1008 2 25-1151 1 500 Ranger 500 2x4 05-07 25-1424 2 25-1150 1
300 300 2x4 94-95 25-1129 2 25-1321 1 500 Ranger 500 4x4 1999 25-1008 2
300 300 4x4 94-95 25-1008 2 25-1321 1 500 Ranger 500 4x4 04-06 25-1424 2 22-1150 1
300 Big Boss 300 6x6 1994 25-1008 2 25-1321 1 500 Ranger 500 EFI 4x4 2006 25-1424 2 22-1150 1
300 Hawkeye 2x4 06-07 25-1424 2 25-1424 1 500 Ranger 500 6x6 2002 25-1008 2
300 Hawkeye 4x4 06-07 25-1424 2 25-1424 1 500 Ranger 500 6x6 04-05 25-1424 2 25-1150 1
300 Xplorer 300 4x4 96-98 25-1008 2 25-1321 1 500 Ranger 500 6x6 (Middle) 2004 25-1150 1
300 Xplorer 300 4x4 1999 25-1008 2 25-1152 1 500 Scrambler 500 2x4 00-02 25-1129 2 25-1151 1
300 Xpress 300 96-99 25-1129 2 25-1321 1 500 Scrambler 500 4x4 1997 25-1008 2 25-1150 1
325 Magnum 325 2x4 00-01 25-1129 2 25-1322 1 500 Scrambler 500 4x4 98-06 25-1008 2 25-1151 1
325 Magnum 325 2x4 2002 25-1129 2 25-1424 1 500 Sportsman 500 4x4 96-00 25-1008 2 25-1150 1
325 Magnum 325 4x4 00-01 25-1008 2 25-1322 1 500 Sportsman 500 4x4 2001 25-1008 2 25-1151 1
325 Magnum 325 4x4 2002 25-1008 2 25-1424 1 500 Sportsman 500 4x4 DUSE 01-02 25-1008 2 25-1150 1
325 Magnum 325 4x4 HDS 01-02 25-1424 2 25-1424 1 500 Sportsman 500 4x4 DUSE HO 2001 25-1008 2 25-1150 1
325 Trail Boss 325 99-02 25-1129 2 25-1151 1 500 Sportsman 500 4x4 HO 01-03 25-1008 2 25-1150 1
325 Xpedition 325 99-01 25-1008 2 25-1322 1 500 Sportsman 500 4x4 HO 05-06 25-1424 2 25-1150 1
325 Xpedition 325 2002 25-1008 2 25-1424 1 500 Sportsman 500 4x4 HO AA,AC,AE,AG 2004 25-1008 2 25-1150 1
330 ATP 330 4x4 04-05 25-1424 2 25-1424 1 500 Sportsman 500 4x4 HO AO-AX 2004 25-1424 2 25-1150 1
330 Magnum 330 2x4 03-05 25-1129 2 25-1424 1 500 Sportsman 500 4x4 RSE 99-02 25-1008 2 25-1150 1
330 Magnum 330 4x4 AA,AB,AC,FB 03-05 25-1424 2 25-1424 1 500 Sportsman 500 6x6 00-06 25-1008 2 25-1151 1
330 Trail Boss 330 03-04 25-1129 2 25-1151 1 500 Sportsman 500 6x6 (Middle) 00-06 25-1151 1
330 Trail Boss 330 05-06 25-1500 2 25-1151 1 500 Sportsman 500 EFI 2006 25-1424 2 25-1150 1

500 Sportsman 500 X2 2006 25-1424 2 25-1150 1

Kawasaki Polaris


